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GENERAL STUDIES o ]
1. Name the first Indian Javelin Thrower to claim a gold medal at the Commonwealth Games 2018.
(A) Seema Antil (B) Ankur Mittal (C) Neeraj Chopra (D) Annu Rani

2. Identify the Five-Year Plan that focused on the goal of "Growth with Stability".
(A) Second Five-Year (B) Fourth Five-Year (C) First Five-Year Plan (D) Sixth Five-Year Plan
Plan Plan

3. Which of the following crops enriches the nitrogen content in soil?
(A) Potato (B) Sorghum (€C) Sunflower (D) Pea

4. From the sweet edible flowers of which of these trees in Jharkhand is liquor obtained?
(A) Mahua (B) Bhabar (C) Hibiscus (D) Jasmine

5. Which of the following hockey players was awarded with the Rajiv Gandhi Khel Ratna Award?
(A) Dhanraj Pillay (B) Leslie Claudius (C) Udham Singh (D) All of the options

6. Who is the first man to televise pictures of objects in motion?
(A) Jack Kilby (B). John L Baird (C) John Bardeen (D) Ray Dolby

7. Who authored a new book titled "Indian Banking in Retrospect — 75 Years of Independence”?

(A) Dr. Tamilisai (B) Dr. Ashutosh (C) Prof. Jagadish Mukhi (D) Praful Patel

Soundararajan Raravikar
8. Who can participate in the business of Parliament without being a member?
(A) Vice-President . (B) Solicitor General ~ (C) Attorney General (D) Chief Justice

9. Who was the last Governor-General of India after independence?

(A) B.R. Ambedkar (B) Lal Bahadur Shastri (C) Chakravarti
Rajagopalachari

(D) None of the options

10. Mahadev Govind Ranade was a member of the-

(A) Arya Samaj (B) Prarthana Samaj (C) India League (D) Theosophical Society

11. Which of the following books was co-written by Meena lyer?
(A) Interpreter of (B) An Autobiography (C) Education of
Maladies Musljms

(D) | Am No Messiah

12. Dassam Garh is also the name of which of these waterfalls in Jharkhand?

(B) Dassam Falls (C) Jog Falls (D) Either Da-song or

(A) Da-song
Dassam Falls

13. When did the Battle of Udaipur take place?
(A) 1680 (B) 1780 (C) 1580 (D) 1880

14. Who among the following is associated with the Manipuri form of dance?

(A) Padma (B) Sobha Naidu (C) Guru Bipin Singh (D) Birju Maharaj

Subrahmanyam
15. The site Harappa is located on the bank of which river?

(A) Saraswati (B) Indus (C) Beas (D) Ravi
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also completed his full term in

16. s the first non-tribal Chiel Minister of Jharkhand who

office.

(A) Shibu Soren () Hemaont Soren (C) Biju Patnaik (D) Raghubar Das
17. The ____ stretch{es) from the Mahanadi Valley to the Nilgiris in the south.

(A) Western Ghats (B) Northern Coast (C) Eastern Ghats (D) Southern Coast

18. Who had been nominated for the prestigious Padma Bhushan award by the Sports Ministry for

2017, but eventually was bestowed in 20207
(A} M.S. Dhoni (B) P.V. Sindhu (C) Hardik Pandya
ts collaboration with

(D) Virender Sehwag

19. The Athletics Federation of India (AFI) announced in August 2022 i
in order to support Indian women athletes.

(A) HSBC India (B) AB Bank India (C) ANZ India (D) Citibank India

20. The Central Institute for Women in Agriculture is situated in-
(A) New Delhi (B) Ranchi (C) Bhubaneshwar

IH Hockey Stars Awards 2020-2021?
(D) Bhavani Devi

(D) Nagpur

21. Who won the Women's Coach of the Year awardin F

(A) Mithali Raj (B) Simranjit Kaur (C) Sjoerd Marijne
22. Which of the following is the oldest Indian language?
(A) Telugu ‘ () Tamil (C) Punjabi (D) Hindi
23. Which of the following languages is NOT spoken in Sikkim?
(A) Bodo (B) Lepcha (C) Bhutia (D) Nepali
24. The largest public sector bank in India is-
(A) Central Bank (B) Reserve Bank of (C) Bank of India (D) State Bank of India
India

25. In which of the Union Territories does the Panchayati Raj system NOT exist?

(A) Chandigarh (B) Delhi ' (C) Daman and Diu (D) Dadra and Nagar
' Haveli

26. In which of these years was the Sahitya Academy Award NOT conferred for Urdu literature?

(A) 1976 (B) 1982 (C) 1972 (D) 1975

27. Which of these is a major timbre product that Ranchi, in Jharkhand, is endowed with, adding to its
economy?
(A) Hara (B) Gamhar (C) Jasmine (D) Rose flowers

28. Kaijli Teej Festival is celebrated in which of the following states?
(A) Karnataka (B) Meghalaya (C) Kerala (D) Rajasthan

29. Who led the Indian contingent at the 2022 Commonwealth Games opening ceremony?

(A) Dutee Chand and (B) Harmanpreet Kaur (C) Neeraj Chopraand (D) P.V.Sindhu and
Srabani Nanda and Rajeshwari Yastika Bhatia Manpreet Singh
Gayakwad

30. Who is known as the Father of SMS?
(A) Linus Sebastian (B) Robert Scoble (C) Matti Makkonen (D) Kara Swisher
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31. Resistance (R) =-Voltage(V)7/

(A) Work (1) (B) Current (1) (C) Power (P) (D) Charge (Q)
32. What is the chemical symbol for nitrogen gas?

(A) Na (B) N2 (C) Ni (D) N*
33. To which of the following families of elements does potassium belong?

(A) Noble gases (B) Halogens (C) Alkali metals (D) Alkaline earth metals
34. Silver chloride turns in sunlight.

(A) Grey (B) White (C) Red (D) Orange
35. What is the force required to keep the object from sliding on a surface with the same speed?

(B) Rolling friction (C) Sliding friction (D) Contact friction

(A) Static friction

36. Citrus fruits are considered a rich source of-
(A) Vitamin A (B) Vitamin B (C) Vitamin C (D) Vitamin D
37. What is the mass of a unit volume of substance called?
(B) Buoyancy (C) Force (D) Density

(A) Pressure
38. Which of the following gases is evolved when ethanol reacts with sodium?

(B) Oxygen (C) Methane (D) Chlorine

(A) Hydrogen
39. To hear a distinct echo, what is the minimum time interval required between the original sound and

the echo?
(A) 0.01 second (B) 0.4 seconds - (C) 0.1 second (D) 0.2 seconds

40. In 10 seconds, a charge of 25 coulombs leaves a battery. How much current flows?
(A) 0.25 amperes (B) 25 amperes (C) 2.5 amperes (D) 250 amperes

41. In which of the following organs is the "Bowman's Capsule" found?

(A) Liver (B) Kidney (C) Pancreas (D) Stomach
42. Which of the following is a Ieguminous plant?

(A) Pea (B) Cabbage (C) Potato (D) Tomato
43. Which of the following form a set of homologous series?

(A) Ethyne, propyne and (B) Ethane, methane  (C) Ethane, methane and (D) Ethyne, propyne and

butyne and ethyne propene butene

44. Which of the following is neither an acid nor a base?

(A) HCI (B) KClI (C) KOH (D) H2SOa
45. The colour of phenolphthalein in an acidic solution is-

(B) Pink (C) Yellow (D) Orange

(A) Colourless
46. Name a device that measures and displays the instantaneous speed of a vehicle.
(D) Hydrometer

(A) Speedometer (B) Lactometer (C) Barometer

47. A concave lens has a focal length of 15 cm. If the object is placed at 30 cm from the lens, what is the
image distance?
(C) -20cm (D) -18 cm

(A) -10 cm (B) -15cm
10177-1123
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48. Which .
of the following diseases is usually transmitted by mosquitoes?
(D) Arthritis

A) Malari
(A) Malaria (B) Jaundice (C) Chickenpox
49. Which i
&) A dOf the following hormones stimulates millk production after child birth?
RAFOgEn (B) Estrogen (C) Prolactin (D) Progestin
50. i :
(\::!hl:h of the following is used as fuel in cars along with petrol?
) Methane (B) Ethane (C) Butane (D) Ethanol
[ o ) - e —— [
'. o GENERAL MATHEMATICS
S i H = I — — 7_./ - N
1. Find the area of an isosceles right-angled triangle whose hypotenuse is 8 cm-
(A) 32 cm? (B) 16 cm? (C) 20 cm? (D) 9cm?
52. One of the zeroes of the polynomial 2x* + 7x — 4 is-
(A) 2 (B) 1/2 () -1/2 (D) -2
e triangle is-

o of its angles is equal to the third, then th
(C) Obtuse-angled (D) Right-angled

d D are (2, 4) and (-1, 3),

53. In a triangle, if the sum of tw

(A) Equilateral (B) Isosceles
of the line segment AB. The co-ordinates of A an

54. D is the midpoint
s of B.
- (D) (4,-5)

respectively. Find the co-ordinate
(A) (3,1) (B) (-5,4) (C) (-4,2)
55. The factorization of 42 + 8x + 3 is-
(A) (x+1)(x+3) (B) (2x+1) (2x+3) (C) (2x+2) (2x+5) (D) (2x—1) (2x—=3)
29 + cos?(90 - 6) - sin’e
(D) -2

56. Simplify: cosec?(90 - 6) - tan
(A) 1 (B) 2

wo cylinders are in the ratio 2 : 3. The ratio of the

(€0
ir heightsis 5 : 3. Find the ratio of

57. The radii of t
(D) 17:27

their volumes. |
(A) 10 :27 (B) 17 : 10 (C) 20: 27
58. The difference between the c_ircumference and the diameter of a circle is 105 cm. Find the diamete
(A) 44 cm (B) 49 cm (C) 42 cm (D) 35¢cm
59, Ifa+bh=3anda- b = 1, then find the value of 'ab'. '
(A) 4 (B) -4 (C) 2 (D) -2
60. Simplify: sin 47° sec 43° + cos 56° cosec 34°
(A) 2 (8) 1 (C) O (D) 1/2
61. If sin2A = cos(A - 60°), then find the value of '‘A'.
(A) 15° (B) 50° (C) 45° (D) 30°
rs drawn to one diagonal from its opposi'

_If the perpendicula

62. The area of a quadrilateral is 420 m?
e length of the diagonal.

vertices are 18 m and 12 m, then find th
(D) 15m

(A) 24 m (B) 28 m (C) 26 m
63. If sin® = 8/17 and '8 liesin the second quadrant, then find the value of cotB.
(A) 8/15 (B) 15/17 (C) -15/8 (D) -8/15
(x3-3x2+4x-2)+(x-1)
(D) x?-2x+2

64. Evaluate:
(A) X7 -2%x-2 (B) x*+2x+2 (C) X2 - X +2
G 10177-1123



65. A chord
of length 12 em is drawn into a circle of radius 10 cm. Find the distance of the chord from

the centre.
A
(A) 6cm (B) 8cm (C) 5¢cm (D) 10cm

. The '
circumference of a circle of radius 'r' is equal to the perimeter of a square of side 'x’. Find r : x

66
(B) 7:12 (C) 7:16 (D) 11:7

(A) 7:11
. Among these, identify the geometrical shape with the lhighest number of sides.

67
(A) Heptagon (B) Triangle (C) Octagon (D) Square

68. Simplify: sin(x + rt) + sin(x - 1)
(D) O

(A) -2sinx (B) 2sinx (C) -sinx
69. The degree measures of the angles of a triangle are integers. Which of the following CANNOT be
their ratio?
(A) 2:3:4 (B) 2:5:7 (C)3:4:5 (D) 4:5:6
70. If the equations 6x - 5y + 11 =0 and 15x + ky - 9 = 0 have no solution, then find the value of 'k".
(A) 12.5 (B) 18 (C) -12.5 (D) -18
T MENTAL ABILITY TEST
71. Find the ODD one out from the given options.
(D) Jasmine

(A) Watermelon (B) Lotus (C) Lily

72. Pointing to Rakesh, Raj said to Mohan, "He is my father's sister's father's only daughter's son."
How is Rakesh related to Raj?

(A) Son (B) Father (D) Son-in-law

73. In a class of 90, where girls are twice that of boys, Sridhar ranked fourteenth from the top. If there
are 10 girls ahead of Sridhar, then how many boys are after him in rank?
(A) 23 (B) 26 ‘ (C) 25 - (D) 22

74. Read the following information carefully and answer the question given below.
'P','Q’, 'R, 'S", 'T', 'U' and 'W' are seven students playing in a garden. They are wearing clothes of

black, blue, white, green, pink,.yellow and brown colours. Out of seven, three are girls. No girl is
or brown. 'U' is the sister of 'T" and is wearing pink, while 'T" is wearing

while his sister 'Q' is not wearing green. 'R' is wearing yellow, while his

(C) Cousin

wearing black, yellow,

brown. 'P' is wearing blue,
. best friend 'W' is a boy. o
“* What colour of cloth is 'Q’' wearing?

(A) Green (B) Pink (C) White (D) Brown

75. If '20 - 10' means 200, '8 + 4' means 12, '6 x 2' means 4 and '12 + 3' means 4, then 9 x 7 =?

- (A) S (B) 2 (7. (D) 4

76. If in a certain code language, 'DRIVE' is written as 'BPGTC', then how will 'SPOON' be written in that
code language?
(A) QNMML (B) QMINML (C) QNMLM: (D) QNNML

77. A class of boys stand in a single line. One boy is seventeenth in order from both the ends. How
many boys are there in the class? . | |
(A) 35 (B) 34 . (C) 33 (D) 30

| 10177-1123
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(A) mOPn (B) Mopp (©) moPN (0) MOPN
m
79. If 'L stands for 'x', 'M" stands for g '+ then
62P8MANI12L4=> » N'stands for '+ 41,4 1pt stands for *+' th
(A) 16 (B) 17 (D} 18

(C) 20

. d 'red' and
v low'is calle
reen’, ‘green is called 'yellow', 'vel

80. If 'blue’ is called '‘pink’, 'pink is calleq '
'red' is called ‘white', then what is the ¢

(A) Pink (B) White S turcmeriz? (®) ereen
81. Complete the series, ) e
OTE, PUF, QVG, Rwy, (w1
(A) sy) oy 54
82. If "X 4 v %) (s N
-} +' Y' means X is the father of Y;
'X =Y means X js the wife of Y,
'X + Y‘ means X is the sister of Y, ang
XxYy means X is the son of Y,
then ‘how is S related to F in the expression'R-Sx A+ F+P-H"? Brother o
(A) Sister (B) Niece (€] Nephaw ©
83. Complete the series. '
A, CG,M,(.)
(A) U (B) Y - Y o
84. Find the missing number in the following series.
1,5,14,30,(..),91 |
(A) 45 (8) 55 (€) 46 et

: ‘ ; nclusion(s
85. In this question, two statements are given followed by two conclusions. Choose the co (s)

which best fit(s) logically.

Statements:

1) Some tigers are cats.

2) All cats are rats.

Conclusions:

I. All rats are cats.

Il. Some tigers are rats.

(A) Only conclusion | (B) Only conclusion II (C) Neither conclusion| (D) Both conclusions |
follows follows nor |l follows . and Il follow

86. Choose the pair that shows the same relationship as in the pair given below.
White : Peace
(A) Red : Danger (B) Yellow : Blood (C) Black : Sky (D) Green:Water
87. In this question, three statements are given followed by two conclusions. Choose the conclusion(s)
which best fit(s) logically.
Statements:
1) All liquids are gases.
2) All clouds are gases.
3) All solids are gases.
Conclusions:
I. Some solids are liquids.

Il. Some clouds are liquids. (D) Both conclusions |

(A) Only conclusion | (B) Only conclusion Il (C) Neither conclusion | b
follows follows nor |l follows and Il follow
10177-1123



88. If southeast becomes north, northeast becomes west and so on, then what wi| b
: . west be
(A) Northeast (B) Northwest (C) Southeast (D) South “‘:""‘3?
wies
89. Read the following question and decide which of the statements is suffi
cient
question. to answer the

Question:
How many students in a class play football?

Statements:

1. Only boys play football.
Il. There are forty boys and thirty girls in the class,
(B) Statement Il alone is sufficient while staterment

(A) Statement | alone is sufficient while
I alone is not sufficient to answer the question

statement |1 alone is not sufficient to answer

the question
(C) Either statement | orill is sufficient to answer (D) Both statements | and Il together are sufficient

the question to answer the question

90. Kumar walks 25 m towards north, then turns right and walks 25 m, then turns left and walks 30 m
then turns right and walks 25 m, then turns right and walks 55 m, then turns right and walks 40 m,

In which direction is he now from the starting point?

(A) Southwest . (B) South (C) Northwest (D) East
r COMPUTER KNOWLEDGE
91. Identify the item of computer hardware that is named after a creature.
(A) Parrot . (B) Dog - (C) cat (D) Mouse
92. What is "vlog" with respect to the Internet?
(D) All of the options

(A) Vodcast (B) Video log (C) Video blogging

93. In the basics of internet bandwidth, Mbps stands for-
(B) Megabits per (C) Memory bytes per
second standard

(A) Megabytes per (D) Memory bytes per
second second

translate(s) a high-level language program to a machine-level language program.
(C) Linker (D) Compiler and
assembler

94. The
(A) Compiler (B) Assembler

95. Which of the following languages is specifically designed for communicating with a database?
(C) Structured query (D) Filter

(B) Spreadsheet
language

(A) HTML

96. Which of the following is NOT a correct method of editing the active cell content in MS-Excel?
(C) Click the formula bar (D) Double-click the cell

(A) Press the Alt key (B) Press the F2 key

97. In storage devices, a terabyte contains-
(A) 1024 kilobytes (B) 1024 megabytes (C) 1024 gigabytes (D) 1024 bytes

98. By default, where does MS-Word display endnotes?
(B) Footer (C) Bottom of the page

d on a computer as a pointing device?
(D) All of the options

10177-1123

(D) End of the document

(A) Header

99. In the basics of computers, which of the following is/are use

(A) Computer mouse (B) Touchpad (C) Joystick

A




100. Which of the following is/are known as an operating system?

D) All of the options
(A) i0s (B) Android (C) macOS ®l
i , i rograms?
101. Which of the following is the file extension associated with presentation p (g) All of the options
(A) Ppsm (B) PPSX (C) .Pps
102. What is the shortcut key used to select all the contents of the file? B At Bl R
(A) Alt+ A (B) Ctrl + A (C) Ctrl + Alt + A
103. A website is a collection of- (D) Web pages
(A) Algorithms (B) Charts (C) Programs
: nnection?
104, | You are using a telephone line, then which device is required for the lnter(r[l;;t :\,oetwory ntorface
(A) Joystick (B) Modem (C) CD Drive il
105. A helps with a website's speed in different parts of the world, when a website becomes
oy lici websit
(A) Scraper website (B) Mirror website (C) News website (D) Malicious e

106. A computer CANNOT 'boot' if it does NOT have the- "
(A) Compiler (B) Loader (C) Operating system (D) Assembler
107. In the binary language, each letter of the alphabet, and each special character are made up of a
unique combination of . , ) ]
(A) Eight characters (B) Eight bytes (C) Eight kilobytes (D) Eight bits
108. Which of the following computer input devices is used in video-conferencing?
(A) OMR (B) OCR (C) Webcam (D) MICR
10S. What is the full form of HTTP?

(A) Hyper Transform (B) Higher Text (C) Hypertext Transfer (D) Higher Transport
Text Protocol Transport Protocol Protocol Team Protocol

110. The first two digits of EAN-13 barcode represent the-

(A) Country (B) Manufacturer's (C) Product code (D) Check digit
code

,\JHARKHAND BASED GENERAL KNOWLEDGE

111. Jharkhand's Navratan
(A) Mandalgarh

garh is also referred to as which of the following names?
(B) Doisagarh . ~ (C) Rajgarh (D) Pratapgarh
112. Which district of Jharkhand is known as the

'City of Waterfalls'?
(A) Ranchi

(B) Giridih (C) Dumka . (D) Gumla
113. Jharkhand was founded by the Bihar Reorganization Act on-
(A) 11 November 2001 (B) 13 November 1993 (C) 19 November 1997

(D) 15 November 2000
114. The Jharkhand government has

launched a unique project which employs blockchain technology

for-

(A) Distribution of (B) Distribution of (C) Distribution of milk (D) Distribution of
newspapers to seeds to farmers from factories Aadhar cards
consumers

A - 10 10177-1123



115. Which of the following instruments is called the Jharkhandi violin?

116.

117.

118.

119.

120.

121.

122.

123.

124,

125.

126.

127.

128.

129,

(A) Algoze (B) Bugchu (C) Dilruba (D) Kendri

Which of the following airports is owned by Steel Authority of India Limited and operated by

Airport Authority of India?
(A) Deoghar Airport (B) Chakulia Airport (C) Bokaro Airport (D) Silchar Airport

Jharkhand became the second state to launch an employment guarantee scheme for the urban poor

after-

(A) Tamil Nadu (B) Kerala (C) Madhya Pradesh (D) Goa

Who was the founder president of the 'Palamy Hindi Sahitya Sammelan'?

(A) A.B.Vajpayee (B) Havaldhari Ram (C) V. D. Savarkar (D) Mukutdhari Singh
Gupta 'Haladhar'

is the leading producer of tussar silk in the country.
(A) Jammq and Kashmir (B) Rajasthan (C) Telangana (D) Jharkhand

Which of the following personalities received the Sangeet Natak Akademi Award in 2007 for his
contribution to the tribal music and dance of Jharkhand? -
(A) Ram Dayal Munda  (B) Himanish Goswami (C) Manoranjan Byapari (D) Shivaji Sawant

Hazaribagh and Ranchi are separated by the faulted sedimentary coal-bearing basin of which river?
(A) Ganga (B) Mahanadi (C) Krishna (D) Damodar

Who was the creator of the script known as 'Ol Chiki'?
(A) Sakharam Ganesh  (B) Raghunath Murmu (C) Majhi Ramdas Tudu (D) Mukund Nayak

Deuskar
The Raksel dynasty established which district of Jharkhand?
(A) Ramgarh (B) Palamu (C) Hazaribagh (D) Garhwa
Under which of the following Indian Cricketers' captaincy did India win the ICC 2011 World Cup?
(A) Virat Kohli (B) Sourav Ganguly (C) M.S. Dhoni (D) V.V.S Laxman
Which of the following states is also called Vananchal? ‘
(A) Jharkhand (B) Assam (C) Meghalaya (D) Kerala

are the two main folk ar.ts of Jharkhand.

and
(C) Devrav and Mandav (D) Thewa and Bihu

(A) Kohber and Sohrai  (B) Terah taal and
Kurjan

Jharkhand's Ashakiran Barla won the Women's U-20 (6 km) event in which of the following?
(B) South Asian Cross  (C) Commonwealth (D) Indian National Open

Games 2021 Athletics
Championships 2021

(A) Summer Olympics
2020 Country
Championships
2022

Which state is presently producing about 20%-25% of total steel being produced in the country?
(A) Gujarat (B) Goa (C) Jharkhand (D) Andhra Pradesh

What is the full form of JIADA?

(A) Jharkhand International Administrative
Department Authority

(C) Jharkhand Industrial Area Development
Authority

(B) Jharkhand International Airport Development

Authority
(D) Jharkhand Inter-Association Digital Area
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: Champlonshlp held in
w '
Norway in 20047 N8 boxers won gold in the World Women's Boxing

(A) Pwilao Ba sum

(D) Sonia Chahal
131 Atary (@) Aruna Mishra (C) Jamuna Boro
- Which of the fo))
(8 Bhanbag owing is called the 'Shimla of Jharkhand'? (D) jamshedpur
o (B) Teliyagarhi (C) Ranchi

Jharkhand is bord
ered b
(A) Uttar Bradess: Y Which state to the north?

(8) Rajasthan (C) Manipur
133, isana shedpur in the state of
—— <
Tharkhang, "tificial reservoir located 15 km from the city of Jam
(A) Bhimtal 1ake

(D) Bihar

(D) Loktak lake

(B) Pulicat lake (C) Dimna lake
134,

Who is th
(A) Salma‘a aUtho,: of Pagha Jori-lori Re Ghato?
N Rushdie (B) Rohinton Mistry (C) Purushottam Laxman
Deshpande

(D) Rose Kerketta
135. Wh

© among the following is NOT a renowned hockey player of Jharkhand?
(A) Asunta Lakra

Savitri Purti
(8) Pushpa Pradhan  (C) Purnima Mahato (D)
136. M.s, Dhoni rece

ived the
(A) 2018

Padma Bhushan award in the year- 2022
(B) 2020 (C) 2021 (B)
137. 7 i
he Jharkhand Seva Ratna award consists of which of the following? rd of 220
(A) Silver plaque (B) Golden plaque (C) Cash reward of X10 (D) Cash rewa
lakh lakh
138. Jharkhang can be

: osits and
' ‘ roughly divided into how many major zones based on raw material dep
Industrialization?

(A) Two (B) Five (C) Twelve \P) Blgkit
39. The Bhumij revolt began in the year-

(A) 1832 (B) 1871 (C) 1845 (p) 1804
140,

is a folk dance form popular in the Chota Nagpur region of Jharkhand.
(A) Pandavani (B) Theyyam (C) Dandiya Raas (D) JananiJhumar

141. Which scheme in Jharkhand provides clothes at subsidized rates to BPL card holders?

(A) Chandi-Sobran Dhoti (B) Sona-Sobran Dhoti (C) Chandi-Sobran Shirt

(D) Sona-Sobran Dhoti,
Saree

Saree and Saree Shirt and Saree
142. On the occasion of Internation
Vocational Skills Training Cent
(A) Tejaswini

al Women's Day-2022, Jharkhand CM inaugurated the online
er in Dhanbad under the project.

(B) Tapaswini (C) Yashashwini (D) Roopatarangini
143. Ektara is one of the

instruments which is used in Jharkhand.
(A) String

(B) Leather (C) Woodwind

(D) Keyboard
144. Which state is one of the richest mineral zones in the world and has 40%

of India's minerals?

(A) Madhya Pradesh (B) Odisha (C) Assam (D) Jharkhand
145. Which of the following is/are the leading industrialized cities in Jharkhand?
(A) Ranchi (B) Bokaro (C) Jamshedpur | (D) All of the options
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146. The best legislator award from the government of Jharkhand contains
a cash of-

(A) X10000 (B) 30000 (C) %47000 -
147. In which year did the government of Jharkhand introduce the "Jharkhand gs o
(A) 2002 (B) 2008 (C) 2014 '(;)""2’(’)0"6\!"?
148. The book of s.hort storit?s "The Adivasi Will Not Dance" is authored by- 16
(A) Manoranjan Byapari (B) Hansda Sowvendra (C) Suchitra Y
Shekhar Bhattacharya (D) Joy Goswami

149. Where is Dalma Wildlife Sanctuary located?
(A) Jamshedpur - (B) Bokaro (
C) Deoghar (D)
Godda

150. Which of the following are major zones based .
{harkhand? On raw material deposits and industrialization in

(A) Ranchi Industrial (B) Dhanbad-Bokaro
(C) Ghatsi i
Area Industrial Ares )Area;sna Industrial (D) All of the options
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